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GCSE Exam Questions: Conditional Probability

1) The table shows the age and gender of students in a primary school.
( Male Female Total ]
4-6 19 35
7-9 21 38
10-11 14 25
Total 48

(a) Complete the two way table

(2)
(b) One student is chosen at random.
Find the probability that the student is aged 7 - 9 given that they are female.
(2)
(4 marks)
2) (a) A bag contains 4 red marbles and 8 green marbles.
Two marbles are picked from the bag. Complete the tree diagram below.
First pick: Second pick:
Red
4 Red
12
Green
8 Red
12 Green
Green 2)
(b) Find the probability that both marbles are the same colour.
3
(5 marks)
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3) (a) There are x pieces of fruit in a box. 5 of them are bananas.
The probability of picking 2 bananas is % .
Prove that x? - x - 90 = 0.

4)
(b) Find x, the number of pieces of fruit in the box.
(2)
(6 marks)
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Question Answer Marks
1) The table shows the age and gender of
students in a primary school.
Male Female Total
4-6 19 35
7-9 21 38
10-11 14 25
Total 48
(a) [Complete the two way table @@ [ Ml = —
4-6 16 19 35
7-9 21 17 38
10-11 11 14 25
Total 48 50 28
For 2 correct boxes 1
For all boxes correct )
(b) | One student is chosen at random. (b) 17 or 50 seen 1)
Find the probability that the student is aged 17
7-9 given that they are female. 50 @
2) (a) | A bag contains 4 red marbles and 8 green (a) 3 1)
marbles. Two marbles are picked from the 11
bag. Complete the tree diagram below. For fully correct tree diagram @
: First pick: Second pick: First pick: Second pick:
Red 3 Red
11
4 Red Red
12 12
Green 11 Green
i Red 8 % Red
12 Green 12 Green
Green 11 Green
(b) | Find the probability that both marbles are the | (b) P(red and red) = 12 or
same colour. 132 56
P(green and green) = 132 1)
12 56
3 132 1)
68
=T 1)
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Question Answer Marks
3) (a) | There are x pieces of fruit in a box. 5 of them | (a) p 1) = E 1
are bananas. The probability of picking 2 (banana 1) T @)
bananas is % Prove that x? - x - 90 = 0. P(banana 2) = r — 1 @
5 4 2
- X T 1- 9 oe €))
Correct method to show x2-x-90=0
E.g.
20 2
22—z 9
180 =2x2 - 2x
90=x2-x
x*-x-90=0 €))
(b) | Find x, the number of pieces of fruit in the b) x-10)x+9)=0 )
box. x =10 only @
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